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. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to

ensure that it contains all the pages in correct sequence and that no page/question is
missing. In case of faulty Question Booklet bring it to the notice of the
Superintendent /Invigilators immediately to obtain a fresh Question Booklet.

Do not bring any loose paper, written or blank, inside the Examination Hall except the
Admit Card without its envelope. :

A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer
Sheet shall not be provided. Only the Answer Sheet will be evaluated.

Write your Roll Number and Serial Number of the Answer Sheet by pen in the space
provided above. '

On the front page of the Answer Sheet, write by pen your Roll Number in the space
provided at the top, and by darkening the circles at the bottom. Also, wherever applicable,
write the Question Booklet Number and the Set Number in appropriate places.

No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No.
(if any) on OMR sheet and Roll No. and OMR sheet No. on the Question Booklet.

Any changes in the aforesaid entries is to be verified by the invigilator, otherwise it will be
taken as unfairmeans.

Each question in this Booklet is followed by four alternative answers. For each question,
you are to record the correct option on the Answer Sheet by darkening the appropriate
circle in the corresponding row of the Answer Sheet, by pen as mentioned in the guidelines
given on the first page of the Answer Sheet. '

For each question, darken only one circle on the Answer Sheet. If you darken more than
one circle or darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a
question, leave all the circles in the corresponding row blank (such question will be
awarded zero marks).
'For rough work, use the inner back page of the title cover and the blank page at the end of
this Booklet. ,

Deposit only the OMR Answer Sheet at the end of the Test.

You are not permitted to leave the Examination Hall until the end of the Test.

If a candidate attempts to use any form of unfair means, he/she shall be liable to such
punishment as the University may determine and impose on him/her.
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No. of Questions/Ji &1 H&AT : 100

No. of Pages for Questions/J¥di @ w31 @ W&AT : 28

Time : 2% Hours] | [ Full Marks : 300
w21 gUe ] . [ gorfe : 300
Note : (i) This question booklet contains 100 (hundred) questions in all

(30 in Section — A and 70 in Section - B). Attempt as many questions as
you can. Each question carries 3 (three) marks. One mark will be deducted for
each incorrect answer. Zero mark will be awarded for each unattempted

question.

349 W gRaat | @ 100 @ﬁ)w%@a—aﬁéoam—aﬁmﬂ
ARERE T BT B DR BT WS B | IS G 3 (@) oFF 1 8 | HdP Tewd
IR D BT 0P 3 HIET SIRAT | TRh SRR W BT AT eI e

If more than one alternative answer seem to be approximate to the correct

answer, choose the closest one.

afz TERe dofde SROWE Stk @ Free v @ dr feem wE
TR T |

P.T.O.
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1.

SECTION- A
gre - 3

Good notes and other books as well as reading materials are now available in
market and on internet and therefore class room teaching is now :

(1) outdated and not required

(2) required when there is any confusion

(3) always required

(4) required for those having some learning difficulty

STSTDT e Toqd, o [H AR ST A arR W o geewie ) )
SuTE §; gAfIy wer feror arored

(1) STTaedd 3R YRT B TAT & IR aavaear T8 2

(2) <19 ®Ig fGum a1 deE ter & Wt o

(3) B WHI TR B

(4) mﬁwm%ﬁﬁwﬁaﬁaﬂs‘awwwﬁmmwwﬁ

In a class of 40 students, majority may be of average ability. So, while teaching,
only those students may be given importance who are :

(1) average students (2) gifted and talented students

(3) weak students (4) all who are students
4oﬁaﬁﬁﬂaﬁwmmﬁaﬁéaﬂﬂmqwmmﬁmaﬁwa%m%‘;mzm‘
I SH BTA BT W 1 =Ry o

(1) 3T TR & = (2) wfcovram siiv gfemr e

(3) TR B (4) & &1 BT &'

A competent teacher is considered as one who may be able to teach while
making use of :

(1) new information (2) teaching techniques
(3) humors (4) learner's opinion
U% I Il &T IATID T8 BT & O Ul WHI SYAN R FqP
(1) =18 Rl &1 (2) feror aENHt @

(3) B &g @7 (4) W Tt & siftaa @1
(2)
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4. Success of teaching depends upon :

(1) Knowledge of a teacher (2) | Interaction of students and teacher
(3) Level of students (4) Authoritarian attitude of a teacher
freror 1 Abere R BT § | |

(1) srg¥d & S WR (2) BTET T EATAE B AT W
3) BHEl B WR W (4) araTTe @) sifdreRard) AfgRT W

5. Which of the following is the most effective way to maintain discipline in the
class ?
(1) Effective teaching
(2) Parent teacher meeting
(3) Suspension of undisciplined student from the class for some time
(4) Make undisciplined student class monitor
asmﬁajwaﬂmwﬁa%%ﬁﬁﬂﬁﬁaﬁﬁ—wmuwmwm%?
(1) TRt fRreror
(2) SifraTah—3rEaTIH: T
(3) TB TG B fY SIUTETE BT BT AN W Fera
(4) ATITATE BTF DI Bell HwICR A1

6. Teaching in a coaching class is more rewarding for a teacher now a days than
that of teaching in schools. So, to be successful in competitive examinations :
(1) it may be compulsory for all students
(2) it may be compulsory for weak and backward students
(3) it may be compulsory for good students
(4) it may be compulsory for no students
ToIFe RETe ¥ UG @ e ¥ PR # g s & o e ey
a9 T 2 o BrET @Y SRRNATET Yerd goersl # weerdr gg I8 ¢
(1) @i B1at @ fog sifart &
(2) TR R fwe gy o & for sifard &
(3) ares B @ fag siffErd &
(4) TE f=i N B & ford aifard = &

(3) P.T.O.
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7. Which of the following is not a demerit of examination system ?
(1) More emphasis on the evaluation of memory
(2) Less emphasis on the evaluation of creative abilities
(3) More emphasis on essay type questions
(4) Objectivity
=T % 1 - T womeh @ Ay T & 2
(1) Hfd & qemis" w® i R
(2) YSTISE ATFArat & Hedlds W HH WR
(3) frgrama® ueei W aife Wik
(4) T

8. It is always said that the role of a primary teacher is more crucial and
significant than that 6f a college and university teacher but the later is highly
paid in comparison. Is it a :
(1) logical practice ? (2) inappropriate practice ?
(3) practice which is traditional ? (4) practice which is attractive ?
mm%%%mﬁmﬁm@ﬁmﬁaﬁvw
awﬁﬁwﬁaﬁm@@?ﬁvmﬁ%é%mﬁﬁm
Y SATIH F AT I A1 S L ;a8 e

(1) Tyl eyavern & ? (2) Srugea e ® ?
(3) URURTTA egawery § ? (4) SMTPYAT gaverr & ?

9. Making use of information communication technology in a School while
teaching is promoted and facilitated by government now but in a country like
India and especially in its remote rural parts where electricity and economic
resources are not ample enough to cater the need, is it possible to foster use of
ICT to support/facilitate teaching ?

(1) It is feasible and depends upon teacher

(2) Itisnot feasible

(3) Itis placed under trial

(4) Itisaday dreaming
vamaﬁaﬁmﬁamﬁ@rﬂw%ngﬁrmﬁéﬁzﬁﬁnwﬁ
Wmmﬁ%éﬁﬁwéﬁéwﬁﬁﬁwwwmmﬁﬁm
ﬁmzﬁaﬁanfﬁ?ﬁwymmmﬂﬁﬁww&rﬂmﬁw
T T e & ? ,

(1) 399 3N fRrers ov fapfr 2

(2) Ivg TE1 8

(3) TemNT &

(4) ¥ P fearawr &
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10. Ina profit oriented open economy, profession of teaching may never come over

11.

medical, engineering, management, administrative, business oriented and other
high economic return based profession. Even then it is called a noble
profession. It is thus meant for :

(1) low aspirants

2) intellectual poor

4

(2)
(3) less talented and traditional minded people
(4) academic intellectuals

ot BfEa ga ol cgaven # R waw w1 Afee goifraR, gau, g,
IR S qur o STa e M Al aerd ¥ A e E Wl & wdfd
fre f SN TP oS wTAG A T B, ¥E A 8 dad

If a teacher is supposed to teach after making a plan and mentions
details of teaching materials to be used before framing of objectives to teach,
itisa:

(1) Logical practice ?

(2) Wrong practice ?
(3) Practice following by majority of people and thus it is appropriate
(4) Practice undecided

afe fdl aruge @) AT FAR U 8 ok g' R & Sevdl 3t fom @
gl IYANT Y WSS JAIAT $T Ieerd BT €, O TE T

difdbe R &8RN

(5) P.T.O.
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12. Why the scheme of house for every one is harmful for a country like India ?
| (1) Due to high population pressure
(2) Due to more pressure on land
(3) Due to diminishing agricultural land
(4) Due to globalization oriented economy
ARG S AW F 9d Al @Ry R SRl Ao sifeRs £ g4 2
(1) S=a T 9&AT g6/ & BROT
(2) 4 R IfF gag & BROT
() weth & P 4 @ P
(4) STHRY S arefaraven & RO

13. A is shorter than B, C is taller than A, D is taller than B but shorter than E,Bis
taller than C. Who is the tallest among them ?

(1) A (2) B (3) C (4) D

ABY BRI CAQ G2 DB oar 2 AR EQ BT & B C & sfar &
S & TR S P R 2

(1) A (2) B | (3) C (4) D

14. If steam engine : Scotland : : diesel engine : ?

(1) Germany (2) England (3) USA (4) France
i I S : whieds - AT TP
(1) <R (2) goivs (3) Yo THo Yo (4) wiE

15. It is said that white rays of sun is containing all VIBGYOR colours but if we mix
all these colours in a glass pot full of water, it will be :

(1) White (2) Black (3) Brown (4) Colourless

®ET S & & g fRer § vt VIBGYOR ¥ Sufers 81 & afest o v @i
@ 909 ¥ 31 Wl 1 @Y Saa femar S a 9wdET 97 86

(1) "ws (2) e 3) [ (4) <fad
(6)
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16. If from a point, A walks 4 km south, turns right and walks 1 km then turns

17.

18.

north to walk 10 kms and then turns to east to walk 9 kms, what is his total
distance from original point ?

(1) 10 Kms ) 5Kms (3) 15Kms . (4) 9Kms
uﬁaﬁﬂﬁﬁgﬁ4ﬁﬁsﬁaﬁwaﬁm%aﬁwlﬁmﬁm%ﬁwwaﬁ

aﬁ?qqmloﬁﬁﬁm%mwaﬁw9ﬁﬁﬁm%mwﬁfgﬁm
J g0 e gnft ?

(1) 10 & () 5 & (3) 15 f 4) 9 f&

Which one is mismatched in the series ?

Shimla, Lucknow, Patna, Kolkata.

(1) Shimla (2) Lucknow (3) Patna . (4) Kolkata

foer St o g 3 B 7

(1) Rryer (2) dqGTH (3) geAT . (4) BIABTAT

If a passenger train A has to cover the distance of 180 kms at the speed of
45 kims/hr and to stop at ten stations for 8 minutes each and another train B has
to cover the same distance with 40 kms/hr speed and to stop at 10 stations for 5
minutes each, which train will reach the destination first ?

1) A 2) B

(3) Both will take same time (4) Data is incomplete

afy @i RioR T A 180 fRr # & B 45 fR/wer A A A 99 BN g
10 R ¥ QA W TP R 8 e IERd) g8 ol ¥ 3R g T B Ifk ww g
T 40 el /HeT @Y TR @ 10 R ¥ A wde W 5 e sad g ol @ @
P A& sifw Ve R ggal gl ?
1) A ) B
(3) Qi WA T A (4) T srargt @

(7) P.T.O.
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19.

20.

21,

If in a code language, A is given value of 3, B=9,C =15, D = 21 etc., then what
will be the numerical value of the word CAGE ?

1) 1533927 (2) 1533627 (3) 1533324 (4) 1533624

Hﬁ‘(ﬁﬂﬂ’l‘ﬁ%ﬁAHﬂWz&BHﬂW:%C?ﬁTW:15,D33THT'T=21
aﬁaﬁeﬁrwﬁ%@meAGEmaﬁ%ﬁmwm?

(1) 1533927 (2) 1533627 (3) 1533324 (4) 1533624

If in a circular race course with radius of 49 meters, A starts running from north
end, anti clockwise and after going 154 meters, he turns to north direction
again and runs straight 49 meters, turns right and after going straight 49 meters
again he turns left and on circular track he runs last 77 meters, what will be his
last position ?

(1). At the centre of the race course (2) At the original point of starting

(3) At the eastern end of race course (4) At the southern end of race course

ﬁ%ﬁmaﬁs%%ﬁ%ﬁ%@ﬁ%awﬁﬁﬁa@
%@ﬁﬁ@ﬁﬁ?ﬂﬁ‘a@maﬁm%aﬁwlmwﬂ%mﬁﬂw
ﬁ?ﬁﬂ%aﬁw?ﬂﬁ@vﬂ.awﬁﬁm%ﬁwiﬁé@ﬁsﬁvaﬁ@
%,maﬁwm%wsﬁnwwﬂma‘aﬁwﬁeﬁﬁqﬁmﬁ
a7 gnft ? |

(1) a8 & A3 & ag A (2) 3 Y5 B B IRME g W
(3) <% & AT @ ydf vr w (4) B8 & A9 & RN BR w

Which of the following is not the objective of continuous and comprehensive

evaluation ?

(1) To provide scope for self evaluation

(2 To make evaluation an integral part of teaching-learning process

(3) To use evaluation for improvement of student's achievement through
diagnostic and remediation

(4) To award degree/diploma only

1 % @ FF—a1 wag e e a1 st T8 8

(1) I qeaidpd & fo0 o1 & &7 ygw ey

(2) qees &1 R g o1 afvard f g9 ,‘

(3)maﬁaﬁwﬁxﬁﬁﬁmﬁmammﬁmwfﬁ%{qm
BT TART BT

(4) Baa Rh /et wam aoy @ forg

(8)
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23.

24.

25.
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Which university was established in 1916 ?

(1) Lucknow University (2) Delhi University
(3) Banaras Hindu University (4) Chandigarh University
1916 ¥ Pr—w1 freafierer wenfid g ? ‘
(1) or@s faeafderey ) faeh fReafaarea

) TR fEg faeafderera @) TvdrTg faeafdemead
NCERT means :

(1) National Centre of Educational Research and Training
(2) National Council of Elementry Research and Training
(3) National Council of Educational Research and Training
(4) National Council of Economic Research and Training
Q‘Ffo Qfﬁojcfo 3Ro ‘aoao'ra?i%

1) < fers g Td Ui o
(2) g gRfaTe s gl AfierT gRTg
(3) < dferp orgRrT Ud af¥err aRug
(4) T T TR ¢d yiRiErr aReg

Kindergarten is based upon :

(1) Principles of Margret Mc Million ~ (2) Principles of Froebel

(3) Ideology of Maria Montessori (4) Idéology of M. K. Gandhi
forrevTe SmRd ®

(1) wRere et @ Rigrl W | @) wia @ Rt w|

(3) wRaT AE @l faeRaRT R | (4) THo Wo TN B AR €T WX |
Guru Ghasidas University is a :

(1) Central University (2) Private University |
(3) Deemed University ' (4) State University

TS TrE faggfderad U@ -

(1) = fRzaferey g (2) wrsde favafderey @
(3) $re fawafyerem 2 4) s fvafiereas @

(9) P.T.O.
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26. Universalization of elementry education is related to which of the following ?
(1) Article 41 (2) Article 42 (3) Article 44 (4) Article 45
URTATD Rt b1 @i e § & Rraws arafirg 8 0

(1) srgase 41 (2) SrgesT 42 (3) SrgeeT 44 (4) srgmT 45

27. 'Main Streaming' is a term associated in which of the following ?
(1) Peace education
(2) Education for women empowerment
(3) Human right education
(4) Education for the handicapped children
T aRT U e H ey e R
(1) enf fem
(2) wieen Aafaaaro & R Ry
(3) AraTeFER e
(4) & qreTdpt & ford e

28. Creche is called :

(1) Kindergarten School (2) Nursery School
(3) Day Care Centre (4) Primary School
B B FET AT E

(1) favswmds faemerm ) T8 faerey
(3) faes Qﬁfﬂﬁ et (4) wafA® faemery

29. DPEP was launched to achieve the objective of which of the following ?
(1) Higher Education
(2) Universalization of Elementry Education
(3) Secondary Education
(4) Vocational Education
o o Fo o Y <o et ¥ & R e B G B R A T o 2
(1) I=a foen
(2) uRfME Rem &1 ardifeor
(3) #rafis I
(4) aAfas fRre
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30. Navodaya Vidyalya has been established to :
(1) provide quality education in rural areas
~ (2) provide vocational education to rural children
(3) educate rural girls
(4) provide technical education to rural students
diey e @) ey @1 T o
(1) T &t F Tomeres e @ @ fory
(2) TTET qEEl B ATaayd e gar exA & forg
3) aHiT arsfEal @1 Rifer B B oy
(4) TIeT BTET BT ThAT e oF @ o

SECTION-B
grg - 9

31. From which place of the Harappan culture the remains of a big bathroom have
been obtained ?

(1) Harappa - (2) Chanhudaro
(3) Mohanjodaro (4) Lothal
T WG & B <erel | el IR @ @ e gy € ?
(1) s (2) g
(3) HETAGIES! (4) e
32. Who was the first Iranian ruler to invade India ? Aronh S ha

&n 22 TS

(1) Darius I (2) Kurush the Great
(3) Darius 1st (4) Menander

WG TR AMTEHACT HRA AT I BT IH D HIT AT 7

(1) SR g (2) T AR

(3) =RIF yaH (4) faaTs<

-

(11) P.T.O.
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33. Kalidas was the contemporary of :

(1) Samudragupta (2) Skandagupta

(3) Chandragupta Maurya (4) Chandragupta Vikramaditya
I e FHHTAT & ?

(1) \gaTa (2) =T

(3) = A (4) T=Q e

34. The temple of Khajuraho was built during the reign of :

(1) Hoyasala rulers
(3) Chandela rulers

(2) Vakataka rulers
(4) Pala rulers

GRTET AR &1 T e eraat S wearar o ?

(1) BRI Oofiall = (2) 9THICH ATHT A
(3) Tea IH A (4) 9T ITART A
35. Mahmud Gawan was the Wazir of ............ state.
(1) Vijayanagar (2) Bahmani (3) Golkunda (4) Bidar
FEHG Al A T BT qoR o ? | |
(1) ISR (2) FEE - (3) TGS (4) 9w
36i> The first Mughal ruler to combat the Portuguese was :
C/ (1) Shahjahan (2) Akba.r (3) Jahangir (4) Aurangzeb
' ydmRei < <t e aren gEel gTer e @ o ?
(1) emeTs! (2) PR (3) SERfR (4) 3iRToE
(’ ‘37.. Thé treaty of Purandar was concluded between :
Y~ (1) Shivaji & Aurangzeb (2) Chbhattrapati Sahu & Bahadur Shah
(3) Maharana Pratap & Akbar - (4) Ahmed Shah & Bahadur Shah
R B A B A e ¢ o ?
(1) Rraeh v sirore (2) B G T4 qETgR e
(3) AERRIIYATY Vg S[dhaR ‘ (4) FEASIME T 9G8R 7T

(12)



38.

39.

40.

41.
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Which amongst the following leaders was sentenced to 6 years
imprisonment in 1908 ?

(1) Bipin Chandra Pal (2) Lala Lajpat Rai

(3) Aurobindo Ghosh (4) Balgangadhar Tilak
1908 % 6 o & HRIEE B Fol FrefaRad # A fbw o g3 & ?
(1) fofTa=s e | (2) JATSAT AT I

(3) eRfa= © (4) TR fe

Who led the Khilafat agitation ?

(1) Gandhiji ' (2) Ali Brothers

(3) Hazarat Mohani (4) Mohd. Ali ]iﬁnah
Recrrd f=Ter @1 e fehea faam o ? _

(1) e S (2) arelt gwgall W

(3) BT HET A (4) wrEwTE el fr= 9

After differences with Gandhiji, Subhas Chandra Bose formed :

(1) Swarajya Party _ (2) Congress Socialist Party
(3) Forward Bloc (4) Ghadaf Party

QuITETE @ A T o & |1 waee B 3 a8 Sl ue g 2
(1) RTg gret (2) U Aerfere gret

(3) BiRaS =if® (4) TR et

To which dynasty Bindusara belongs ?

(1) Haryank - (2) Maurya
(3) Shunga (4) Gupta
RrgaR f SoTa @ TR o ?

(1) &% 99 (2) w4

(3) T ' (4) T

(13) P.T.O.
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42.

43.

44.

45.

With which religious sect is 'Divyavadan’ related ?

(1) Jain (2) Buddhist
(3) Vaishnav (4) Shakta
feagaem foa ad  gwafg 2 7

(1) o= (2) dig

(3) dwrg | (4)

Huvishka belonged to which dynasty ?

(1) Shung (2) Kushana
(3) Parthian (4) Indo-Greek
gfass for oder o awafRg o ?

(1) g (2) B

3) uifdhm 4) Re—ga
To which Dynasty Prabhawati Gupta belonged ?

(1) Vakataka (2) ‘Maukhari
(3) Pushyabhuti (4) Kanva
JHTICH T fh wToTaer & R off ?

(1) grpresd 2) W

(3) g (4) Fva
Name the author of "Harshcharit" :

(1) Patanjali (2) Bhanabhatta
(3) Rajshekhar (4) Kautilya
(1) dcrorfer (2) 9wmee

(3) TSR (4) @i
(14)
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46. To which dynasty Kharvel belonged ?

47.

48.

49.

(1) Maurya (2) Sunga
(3) Chedi (4) Gupta

YRAA b o199 o1 o ?

(1) =4 (2) g1

(3) =fe - (4) T

Write the name of earliest Veda's of Aryans :

(1) Rigveda (2) Yajurveda
(3) Atharvaveda (4) Samveda
AT & rEHTH 9% @7 A faRay

(1) F7 (2) Tgds

(3) 3T (4) ™I

Who was the founder of Mauryan dynasty ?
(1) Kautilya ' (2) Chandragupta
(3) Ajatshatru (4) Pushyamitra

At g9 BT GRS BT o ?

(1) sfesa (2) ==

(3) sromaery (4) gt

Who introduced first Gold Coin in India ?

(1) Samudragupta (2) Vimkadphises
(3) Huvishka : (4) Kanishka
uRa # R e ol qgaT wafer ) ?

(1) FgeT (2) farrsihra
(3) gfaws | (4) Bf¥en

(15) | P.T.O.
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50. Write the name of great Mathematician of Gupta Period :
(1) Aryabhatta (2) Varahmihir (3) Banabhatta (4) Harishena
RIS B HEH TS BT A faRyy
(1) smdee @ wERRR  (3) aomee (@) &R

31. The prime meridian of India passes from :

(1) 85°30'E (2) 82°30'W (3) 84°30'E (4) 82°30'E
W 1 A AT N7 ol §

(1) 85°30'E (2) 82°30'W (3) 84°30'E (4) 82°30'E

52. The world is divided into timezone, each of : .

(1) 2 hours (2) 30 minutes (3) 1hour (4) 4 minutes
foeg & ergw I # i e T @, v
(1) 2 & # (2) 30 fAee # (3) 1 der # (4) 4 e A

53. The continent through which both the tropic of cancer and tropic of
capricorn passes is :

(1) North America (2) Africa

(3) Asia | (4) South America

U1 HeTg g Ty @ Yeam iR A} ¥ S o) §

(1) ST 3R (2) ImYPHT

(3) wRr (4) =ferolt smfRept
54. Inrelation of size and mass, which planet is closest to earth ?

(1) Mars (2) Mercury

(3) Jupiter (4) Venus

PR T4 TA o o # g2} &7 ey 78 o9 8 ?

(1) AT (2) 3o

(3) gEfay | 4) TP

(16)



55.

56.

57.

58.

Spot the odd item in the following :
(1) Prairie

(3) Sunderban

frefaRaa & 9 99 3R o

(1)

(3) gravad

World Ozone day is celebrated on :
(1) 22nd April
(3) 16th September

e e feaw w9 T §
(1) 22 3riier &t
3) 16 fuarax @

Which one is example of high cloud ?
(1) Cumulonimbus

(3) Altostratus

for= # 1 19 ST A" @ SRR © 7
(1) HuUR asf Ag

(3) 7= HURN Ay

Blue colour of sky is due to the :
(1) Mie Scattering

(3) Non-selective Scattering
JTHTE BT ATeT T BT BT BRUT &
(1) & o

(3) STEROTHD THI0T

(17)

)
(4)

13U/95/25(Set-1)

Selvas

Pampas

AR IRs

Ist July
21st March

1 g &I
21 A1 &

Cirrocumulus

Stratus

eI HURI A
T "y

Raylie Scattering
Both (1) and (2)

I g
(1) &R (2) =T
P.T.O.
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60.

61.

62.

The world's most active volcano is :

(1) Cotopaxi (2) Fujiyama (3) Kilauea (4) Vesuvius
gferan @1 et Sy sarenE €
(1) rer Ta=dt (2) TSt (3) fremy C(4) Ry

On a map with the scale of 1 : 1 million the distance between two places 2.8 cms
apart is actually :

(1) 7Kms (2) 14 Kms (3) 28 Ms (4) 28 Kms

1: 1 fafergs wmye oy fAfa 7l ok 2.8 99 @ SN W QY Al A aRafd®
@

(1) 7 faio (2) 14 f&Ho (3) 28 Hio (4) 28 faHo

If the marginal utility of a commodity is zero then its :

(1) Total utility will increase (2) Total utility will decrease

(3) Total utility will be zero (4) Total utility will be maximum
ufy el avg & A SR g @ A |
(1) = Sugifar 9 gig s (2) FA IgAAET g

(3) Tel SUMAIAT I BRN (4) ® ST rfdred et

The consumer is in equilibrium at a point where the budget line :
(1) cuts the indifference curve
(2) istangent to an indifference curve
(3) is perpendicular to an indifference curve
(4) None of the above
SITERTT I fdwg IR Al # 8IaT © S8l goie T
(1) Tey 9% &Y drea &
(2) T g% P ¥TAH B 8
(3) Texe TH D o H Bl B
(4) S H 9 B A
(18)



63.

64.

65.

66.

13U/95/25(Set-1)

With given tastes and preferences, the proportion of income spent on food
diminishes as income increases. This statement is known as :

(1) Gossen's Law - (2) Substitution effect
(3) Engel's Law ' (4) Law of demand

W gE ol g geifieel @ SR uR fie W o R W g @ @ s
PH BN W 8 SRI-ORY 37 a8 €1 $9 $UT B BT o1 §

(1) TR &7 Frm (2) wfRenys wrg
(3) voidd &1 (4) AT &7 fEm

If the demand for a commodity falls as income of the consumer rises, this is a
case of :

(1) Inferior good (2) Norrﬁal good
(3) Prestige good (4) Necessity good
ﬁwﬁwraﬁmaaﬁw%maﬁwﬁmﬁﬁmwwam
(1) =1 ool ot avqg & (2) A IR A
(3) wfder awg A (4) arfard axg @
In case when two commodities are demanded jointly they are :
(1) necessary goods (2) substitute goods
(3) multiple goods (4) complementary goods
Ife & awgd e /Y 9 @ 9 wEemd
(1) sifemd v (2) HfOReTT a%gd
) e v (4) T Twgd
Many firms producing close substitutes constitute :
(1) Perfect competition (2) Oligopoly
(3) Bilateral monopoly (4) Monopolistic competition
5T BH O Fideam gfiRena awgelt &1 Sared ey & a9
1) of wferfar (2) seufER
(3) fEuefg varfreR (4) THIEERE ufernfirar

(19) P.T.O.
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67.

68.

69.

70.

Liquidity preference arises due to :

(1) Transaction Motive (2) Precautionary Motive
(3) Speculative Motive (4) All of the above

TR AR I B BT BRI B

(1) WHIER eGP | (2) | TP

(3) W B (4) STgF R

Bank rate is the rate of which the RBI extends credit to:

(1) Public , ‘ (2) Foreign Countries

(3) Commercial banks @) Agriculture

d6 ¥ 98 < & R w ey Red ¥ g v evar @

(1) e & : (2) fageh <wn =

(3) a1forey ddi B 4) P @I

Which one of the followin'g‘is not a quantitative method of credit control ?
(1) Bank Rate Policy ; (2) Open Market Operation
(3) Variable Reserve Ratio (4) Moral Suasion

e & 4 - AR frgFer &1 qrEers e 78 8 ?

(1) d% T @1 A1 (2) Tel IR BT ufhar

(3) uRgdTeed PN (4) Afd®e gana=

Balanced growth means :
(1) There is equal percentage growth in output
(2) There is equal increase in resources allocated
(3) Different parts of the country grow'in harmonius manner
(4) Different sectors of the economy grow simultaneously
Aqferd fawmy &1 a1 §
(1) Sqe= ¥ |99 famra ufoee &
(2) smafea arl @ v e gfg 8
(3) seieggwen o A= 9rit # |l w9 @ gfg &
(4) referaxen & faft= &5t § ve @ Ao &
(20)



71.

72.

73.

74.

13U/95/25(Set-1)

Who of the following is a supporter of evolutionary theory of origin of State ?

(1) Montesquieu (2) Barker (3) Hegal {4) Marx
et # & F1 I B SARy ¥ Roraard) Rigr a1 weks § 2

(1) Hiewry (2) araR (3) & (4) e
How many schedules are included in the Indian Constitution ?

(1) 9 (2) 10 (3) 11 (4) 12
HRAR R ¥ R s a afR R T @ 2

(1 9 . (2) 10 (3) 11 (4) 12

Which one of the following is not a necessary feature of federal system ?

(1) Written constitution (2) Division of powers
(3) Independent judiciary (4) Parliamentary system
=1 § & B9 Hore araven @ arEvas fvwar 7@ & 2

(1) faRaa dfoem (2) wfFat &1 favrer

(3) e =rgfers (4) FAErT araRer

Which one of the following fundamental rights is available to citizens only ?
(1) equality before law
(2) protection of life and liberty
(3) freedom of religion
(4) equality of opportunity in matters of public employment
= % 1 319 1 Hord AR dad AMRFT By ¥ ?
(1) R & Fwer Ta™an
(2) Sitaa qorm wfdrg T
(3) et adrar |
4) d fFraeH @ vy § srawR & wEE
(21) P.T.O.
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75.

76.

77.

78.

79.

SAARC was instituted in the year :

(1) 1983 (2) 1984

AT P AT 39 g9 F Py 7 o) ¢

(1) 1983 (2) 1984

(3) 1985 (4) 1986

(3)- 1985 (4) 1986

The method of dialectical materialism is associated with :

(1) Liberals (2) Neo-liberals

(3) Marxists (4) Idealists

ggToad Wifdware 3 ugfa g9e a 9Ng B
(1) STRAE (2) TI-IERATE

(3) wTEAaTe! (4) smEetardy

Who said that "the state of nature was a state of peace" ?

(1) Machiavelli (2) Hobbes

(3) Locke (4) Burke

g fram wer & wiefas aravern wf=<y @7 araverr oY ?

(1) A (2) Bt

o

(3) & (4) %

Theory of separation of powers is associated with :

(1) Montesquieu (2) J.S. Mill

.(3) Hegel (4) Marx

HIEN qWﬂTWﬁR’W $UD T ARG
(1) ARy (2) o T¥Ho fAa

Who is the founder of the Arya Samaj ?

(1) Raja Ram Mohan Roy
(3) Dayanand

3T THTGT BT RRAYS B 8 2
(1) TS ITHATEA 1T
(3) TIr=

(3) &R (4) wreRt

(2) Vivekanand
(4) B.G. Tilak



80.

81.

82.

l

13U/95/25(Set-1)

Who is the author of the book entitled "Hind Swaraj" ?

(1) M.N. Roy (2) J. L Nehru

(3) M.K. Gandhi (4) Rajendra Prasad
"RV @RI NG YD BT e B 2

(1) To To w1 (2) So TFo Few
(3) THo @o Tifeh (4) o TR

Which one of the following is the oldest form of organisation ?

(1) Functional organization (2) Line organization
(3) Line and staff organization (4) Departmentation
fr=forfea 3 | Wew &1 urHew wReg Pe—ar ? ?

(1) forarers e (2) I3 HTed

(3) 9F Ug HHON HTeH (4) qrfro dres

"Bill of Lading" is issued by :

(1) Indian Commercial Banks ~ (2) Foreign Banks
(3) Shipping Company (4) Exporters
TEA-TA s g1 SR A o @ ?
(1) v aftias §@ (2) faceh §&
(3) STETN B * (4) g

837) A 'debit' may signify :

- (1) Decrease in asset account | (2) Increase in asset account
(3) Increase in liability account (4) Increase in capital account
e’ F AT R - |
(1) wwfy @y A frrae (2) wHRy @ # gerr
(3) =@ @Rt % TR (4) T @Ry & qed

(23) P.T.O.
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84. Cash accountisa:

(1) Personal A/c (2) Real A/c

(3) Nominal A/c (4) Real A/cand Personal A/c
ApE QAT AU 7

(1) efee @ : (2) aRafs @

(3) widfid @ (4) AR Wrar gd feTd @

85. Current assets include :

(1) Long term investments (2) Cash and bank balances
(3) Machinery | (4) Patent rights

7], af, § |feAferd @

(1) e e (2) 7 TE dF § Abs

(3) w1 (4) THHE IHTHR

86. An internal auditor can be removed by :

(1) The share holders (2) The statutory auditor
(3) The management or directors (4) The government

UE IR ST fhad gRT T BT ST a8 ?

(1) SR 2) AeE iPeTH

(3) va=H a1 Faes AvSel (4) RPN

87. The minimum number of Directors in a public limited company is :
TF ufers fafics @ § waterd! (Directors) @1 RETAH AT B
11 (2) 2 (3) 3 (4) 7

(24)
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88. The figure of working capital is represented by :

89.

90.

(1) Current assets
(2) Current liabilities
(3) Cash-in-hand plus stock in trade

(4) Current assets minus current liabilities

HIEA ot # Ha gl @

(1) =, et

(2) = =T

(3) BRI JHS WIS AqRe Teforar
(4) @re Ry werg A ST

For calculating average size of oranges on a tree, the most appropriate
average is :

(1) Mode | (2) Median
(3) Mean | (4) Weighted Arithmetic mean
TP IS W & Rl BT ARG MER Mo B waifte suged sivad 2
(1) Fgei® (2) wfeaat

(3) mTF (4) MR AAFIR Ay

The value of money means :
(1) its storing value (2) its purchasing power
(3) its commanding power (4) its exchange utility
el & qoY &7 ref ®
(1) wosiRa Hey (2) @dE @ e
(3) fAder @ ervrar (4 fafrg @ g s
(25) P.T.O.



13U/95/25(Set-)

91.

92.

93.

94.

Lactose is the another name of :

(1) Starch ‘ (2) Milksugar

(3) Polysaccharides (4) Dextrin

AISIT BT T AH 8

(1) = | 2) g
(3) MeAIRTTSH (4) ST

Deficiency of Sodium causes :

(1) Hyponatremia (2) Beri-Beri

(3) Anaemia (4) Thyroid

AfeTw Y HN A S T BT 8 2

(1) wEumgRaT (2) SO—aq
(3) Thfr (4) TS

How many chromosomes a child get from mother and father ?

o g P S AR & R FER w2 @ 2

(1) 43 (2) 46 (3) 24

In which fibre sulphur is found ?
(1) Wool (2) Cotton (3) Silk
T A NI T TRE o A #

(1) & (2) wura (3) e

(4) Rayon



95,

96.

97.

98.

13U/95/25(Set-1)

By whom family life-cycle is divided in three stages :

(1) Gross and Crandle (2) Bigelow

(3) Nickle and Dorsey (4) Warren ‘
aRaRe Sfta-ass @ sy e+ A art ¥ fv frar 3
(1) 4T g Hvse (2) faTa

(3) foe 7 SN (4) AR

Water soluble vitamin is :

(1) Vitamin K (2) Vitamin A
(3) Vitamin C (4) Vitamin D
ool # gereie e @

(1) faerfim K (2) facrfam A
(3) faerfam C (4) fFef= D

Cause of Hypokelemia is :

(1) Potassium (2) Magnesium
(3) Iron (4) Sulphur
BISUID I AT T BRI &

(1) 9referm (2) Iy
(3) @& \ (4) TR

Deficiency of which Vitamin causes Microcytic Anaemia ?

(1) Vitamin By (2) Vitamin K
(3) Vitamin A | (4) Vitamin D
Agprgied T 5 e @ ol @ R e § 2
(1) faeifam Be (2) frefam K
(3) facra A (4) e D

(27) | P.T.O.
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99.

100.

Small filament is also called :

(1) Staple yarn ‘ (2)
(3) Spunyarn - (4)
Y SATBTERT 9T BT AR T FET AT E 7

(1) ¥eT& grm 2)
(3) ¥ 4rm (4)

For whitening the clothes, we do:

(1) Bleaching (2)
(3) Cereing 4 4)
T R wedl @ ford farar wiw @

(1) faom ’ (2)
(3) fRmgn @

Filament yarn

Plain yarn

fhetra=e
o YT

Cleaning

- Moireing

DTS
ArgfT
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